F LDt KRR AR A—D)

A

HKRFD=-HDERE
&~~~

(Ll

HIKERETRT DT K

[ N
100

‘/
HEKO—HZERTH

HE K B

HOKSRETRTDRTFK

CFNVARY: )

e
100

mE
100

’

I
]
1
1
1
1
1
1
1
1
1
1
L
1
1
1
1

TBJI| & L o) 3t K 5A & 35 R [#KER]

BN L HKET -&oﬁﬁkﬂlﬂt;ﬂﬁxﬁlé

RN TLB100DKIE, ZOEETFRICHRNTLEET

IKBIF1/5I2Y | KB EEEBLET

|

[ ZDAA—STIE A LTHRAN=FND

(= E)

50.30m/S
e

#44. 1Fm3D K ZEFrH

=31 .

(3

J\H

hEkeiE AKEKR (R4. 8. 2)

HLIZESTT. 10mDKEET

F LA MNMEEOEEKEL 1. 72m
S LABEOKE 0. 62m

TN LTIK. 8A2H DIATIR ERE) (& HHKIDT=8 . #HKRAMEITVELT=, $144.1Fm3D

HKES LIZEFEL, F LTROBIIZFHENSKEZDELELE,




TEJI| & L ) 3k 0K BR 8i3h R [FREAR]  (GEH) Al #R

R KESBROREICIVREFENEDLIGEELHYET,

BNALTEKSA2B® AR BRKE) 12X HHKI D=6, #KREZITVELT.
BROKRE, REFHORXFFERES. dmm, RETHEEST. Tm&G Y, BIFLICETARXFRARIXS0.3m3/sEFTERLE

LT—O
BOKRFOHER., 944 1Fm3DKEFLICEFEL., BIHIOKEZL. InFIFHENTEFEL -,
BEROWKR GBI A LREFEYRE) ) eI & LG
éé‘*fFﬁﬁﬁﬁjE mm Pry—— _RETHE mo A & HEWIIKFR mm\
gg o B TR 4 250 Eid) = FARAI)—FSE LA
50 12 = 51. 5m
25 1 200
gg 150 12 e 380. Om
3(5) = K F& 125, 000m3
i P 7190 £ K @ W 34. 4km?
10 ? 1 90 ok m O 0. 35km?2
H | B K 2
0 0 A KE 4, 200Fm3
N N N N N N N N N N N N N Y -
O S o & %G,c S RS S o0 & (9.9 S RS Y—Fr—Y KL EL. 144. 50m
A N = s oKk R E 40m3.s
B L HEKERAET DR R w T & BEF4A74E 00
EL| m g m3/s
145
#—Fv—Y JKAL EL 144.50m 1 80
N5/ Si(30))
= - = e 4~ F = KA
— RAXRAE —ﬁ]\\‘iﬁ(jn?/t; 160
135 — FRFRAR 50.30m3/s 2FE(m3/s)
pe =1 = P
ﬁ&uu.i 7 Eij(ﬁ&/ﬁi
| 13.36m3/s ya 20.31m3/s 140
»wE— -t
4 20
115 0
O O O O O ©O O O ©O © O O O O O O O ©O O O O © O O © O O © ©o o o o o o o
________ SEEINES TS ITFEL SIS EITLETREQLIYES - NS



